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•••• Ñi;k t k¡p dj ysa fd bl iz'u& i= e sa e qfnzr i`"B 16 rFkk iz'u 38 gSaA  
 Please make sure that the printed pages in this question paper are 16 in number 

and it contains  38 questions. 

•••• iz'u& i= esa nkfgus gkFk dh vksj fn;s x;s d ksM u Ecjd ksM u Ecjd ksM u Ecjd ksM u Ecj  dks Nk= mÙkj&iqfLrdk ds eq[;&i`"B ij fy[ksaA 
 The Code No. on the right side of the question paper should be written by the 

candidate on the front page of the answer-book. 

•••• Ñi;k iz'u dk mÙkj fy[ku k 'kq: dju s ls igys] iz'u d k Øekad vo'; fy[ksaA 
 Before beginning to answer a question, its Serial Number must be written. 

•••• mÙkj&iqfLrdk ds chp e sa [kkyh iUuk@iUus u NksMsa+A 
 Don’t leave blank page/pages in your answer-book. 

•••• mÙkj&iqfLrdk ds vfrfjDr dksbZ vU ; 'khV u gha fey sxhA vr% vko';drkuqlkj gh fy [ksa vkSj fy[kk mÙkj u 
dkVsaA 

 Except answer-book, no extra sheet will be given. Write to the point and do not 

strike the written answer. 

•••• ijh{kkFkhZ viu k jksy ua0 iz'u& i= ij vo '; fy[ksaA jksy u a0 ds vfrfjDr iz'u& i= ij vU; d qN Hkh u 
fy [ksa vkSj oSdfYid iz'u ksa ds mÙkjksa ij fdlh izdkj dk fu'kku u y xk,¡A  
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 Candidates must write their Roll No. on the question paper. Except Roll No. do not 

write anything on question paper and don't make any mark on answers of objective 

type questions. 

•••• d`i;k iz'uksa ds mÙkj nsus lss iwoZ ;g lqfu f'pr d j ysa fd iz'u&i= iw.kZ o lgh gS] ijh{kk ds m ijkUr bl ijh{kk ds m ijkUr bl ijh{kk ds m ijkUr bl ijh{kk ds m ijkUr bl 
lEc U/k e sa d ksbZ Hkh nkok L ohdkj u gha fd; k tk;sxkAlEc U/k e sa d ksbZ Hkh nkok L ohdkj u gha fd; k tk;sxkAlEc U/k e sa d ksbZ Hkh nkok L ohdkj u gha fd; k tk;sxkAlEc U/k e sa d ksbZ Hkh nkok L ohdkj u gha fd; k tk;sxkA     

 Before answering the questions, ensure that you have been supplied the correct and 

complete question paper, no claim in this regard, will be entertained after 

examination. 

lkekUlkekUlkekUlkekU ; fu nsZ'k  %; fu nsZ'k  %; fu nsZ'k  %; fu nsZ'k  %     
General Instructions : 

 (i) lHk h iz'u vfuok; Z gSaAlHk h iz'u vfuok; Z gSaAlHk h iz'u vfuok; Z gSaAlHk h iz'u vfuok; Z gSaA     
  All questions are compulsory. 
 (ii) bl ç 'u-i= esa dqy 38 ç'u gSa] tksfd iiii kkkk ¡p¡p¡p¡p  [k.M ksa % vvvv] cccc] llll]  nnnn     vkSj ;;;; esa ck¡Vs x;s gSa % 
  This question paper consists of 38 questions in all which are divided into five 

Sections : A, B, C, D and E : 

  [k.M[k.M[k.M[k.M     – v %v %v %v % bl [k.M esa 1 ls 20 rd dqy  20 ç'u gSa]  ft ue sa ls 10 cgqfodYih;] 4 ,d 
'kC nh; mÙkj oky s] 4 fjD r LFkku Hkjsa/lR;-vlR; ,oa 2 vfHkdFku-dkj.k okys ç'u gSaA çR;sd 
ç'u 1 vad dk gSA 

  Section – A : This Section consists of 20 questions from 1 to 20, out of           

which 10 are MCQ, 4 one word answer, 4 fill in the blanks/true-false and 2 

Assertion – Reason questions. Each question carries 1 mark. 

  [k.M[k.M[k.M[k.M     – cccc     %%%% bl [k.M esa 21 ls 25 rd dqy 5 ç'u gSa]  çR;sd ç'u 2 vad dk gSA 

  Section – B : This Section consists of 5 questions from 21 to 25, each of       

2 marks. 

  [k.M[k.M[k.M[k.M     – llll     %%%% bl [k.M esa 26 ls 31 rd dqy 6 ç'u gSa] çR;sd ç'u 3 vad dk gSA  

  Section – C : This Section consists of 6 questions from 26 to 31, each of 3 

marks. 
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  [k.M[k.M[k.M[k.M     – nnnn     %%%%  bl [k.M esa 32 ls 35 rd dqy  4 ç'u gSa]  çR;sd ç'u 5 vad d k gSA 

  Section – D : This Section consists of 4 questions from 32 to 35, each of 5 

marks. 

  [k.M[k.M[k.M[k.M     – ;;;;     %%%% bl [k.M esa 36 ls 38 rd dqy 3 ç'u gSa]  çR;sd ç'u 4 vad dk gSA 

  Section – E : This Section consists of 3 questions from 36 to 38, each of 4 

marks. 

 (iii) lHk h ç 'u vfuok; Z gSAlHk h ç 'u vfuok; Z gSAlHk h ç 'u vfuok; Z gSAlHk h ç 'u vfuok; Z gSA 

  All questions are compulsory. 

 (iv) dqN  ç'uksa esa vkUrfjd p;u dk fodYi fn;k x;k gS]  mue sa ls ,d ,d ,d ,d gh ç'u dks p quu k gSA 

  There are some questions where internal choice has been provided, choose 

only one of them. 

 (v) dSYD;qysVj ds ç;ksx dh vuqe fr u gha gSA 

  Use of calculator is not permitted. 

[k.M[k.M[k.M[k.M     – vvvv     

SECTION – A    

  1. 140 dks vHkkT; xq.ku[k.Mksa ds xq.ku Qy ds :i e sa O ;Dr dhft,A 1 

 Express 140 as a product of its prime factors. 

  2. 26 vkSj 91 dk HCF gS % 1 

 (A) 26 (B) 13 

 (C) 17 (D) bu esa ls dksbZ ugha 

 HCF of 26 and 91 is : 

 (A) 26 (B) 13 

 (C) 17 (D) None of these 
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  3. fj Dr  LFkku Hkjsa %fj Dr  LFkku Hkjsa %fj Dr  LFkku Hkjsa %fj Dr  LFkku Hkjsa % 1 

 
2

1
 ,d ------------ la[;k gSA 

 Fill in the blank : 

 
2

1
 is an …………… number. 

  4. f}?kkr cgqin 1072
++ xx  ds 'kwU;d gSa % 1 

 (A) 2, 5 (B) 2, −5 

 (C) −2, −5 (D) bu esa ls dksbZ ugha 

 The zeroes of quadratic polynomial 1072
++ xx  are : 

 (A) 2, 5 (B) 2, −5 

 (C) −2, −5 (D) None of these 

  5. jSf[kd lehdj.k ;qXe x + y = 14, x − y = 4 ls x vkSj y dk e ku gS % 1 

 (A) x = 9, y = 5 (B) x = 5, y = 9 

 (C) x = 9, y = 4 (D) bu esa ls dksbZ ugha 

 Value of x and y from pair of linear equations x + y = 14, x − y = 4 are : 

 (A) x = 9, y = 5 (B) x = 5, y = 9 

 (C) x = 9, y = 4 (D) None of these 

  6. )3(2)1( 2
−=+ xx  gSa % 1 

 (A) f}?kkr cgqin (B) jSf[kd lehdj.k 

 (C) f}?kkr lehd j.k (D) bu esa ls dksbZ ugha 
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 )3(2)1( 2
−=+ xx  is : 

 (A) quadratic polynomial 

 (B) linear equation 

 (C) quadratic equation 

 (D) None of these 

  7. A. P. 3, 1, −1, −3, ……… dk lkoZvUrj gS % 1 

 (A) −2 (B) 2 

 (C) −4 (D) bu esa ls dksbZ ugha 

 Common difference of the A. P. 3, 1, −1, −3, ……… is : 

 (A) −2 (B) 2 

 (C) −4 (D) None of these 

  8. nks fcUnqvksa (2, 3), (4, 1) d s chp dh nwjh gS % 1 

 (A) 22  (B) 23  
 (C) 2  (D) 25  

 The distance between two points (2, 3), (4, 1) is : 

 (A) 22  (B) 23  
 (C) 2  (D) 25  

  9. fj Dr  LFkku Hkjsa %fj Dr  LFkku Hkjsa %fj Dr  LFkku Hkjsa %fj Dr  LFkku Hkjsa % 1 

 A(6, 1) vkSj B(8, 2) dk e/; fcUnq ------------- gSA 

 Fill in the blank : 

 Mid point of A(6, 1) and B(8, 2) is …………. . 
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10. fcUnq (2, 3) çFke prqFkk±'k e sa fLFkfr gSA ¼lR;¼lR;¼lR;¼lR;/vlR;½vlR;½vlR;½vlR;½   1 

 The point (2, 3) lies in first quadrant.                                         (True/False) 

11. ;fn 
3

4
tan =A , cot A Kkr dhft,A 1 

 If 
3

4
tan =A , find cot A. 

12. sin 45° dk eku gS % 1 

 (A) 1 (B) 
2

1  

 (C) 
2

1
 (D) bu esa ls dksbZ ugha 

 Value of sin 45° is :  

 (A) 1 (B) 
2

1  

 (C) 
2

1
 (D) None of these 

13. AA 22 tan9sec9 −  gS % 1 

 (A) 1 (B) 9 

 (C) 0 (D) 8 
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 AA 22 tan9sec9 −  is : 

 (A) 1 (B) 9 

 (C) 0 (D) 8 

14. dks.k θ okys f= T;[k.M dk {ks=Qy  = 2

360
rπ×

θ
. ¼lR;¼lR;¼lR;¼lR;/vlR;½vlR;½vlR;½vlR;½             1 

 Area of the sector of angle 2

360
rπ×

θ
=θ .                                    (True/False) 

15. ?ku kHk dk vk;ru]  ftldh y EckbZ] pkSM +kbZ vkSj Å¡pkbZ Ø e'k% 12 m, 10 m vkSj 8 m gSa] gS % 1 

 (A) 960 3m  (B) 592 3m  

 (C) 640 3m  (D) bu esa ls dksbZ ugha 

 The volume of a cuboid, whose length, breadth and height are 12 m, 10 m and  

8 m respectively, is : 

 (A) 960 3m  (B) 592 3m  

 (C) 640 3m  (D) None of these 

16. ,d o`Ùkh; csyu dk vk;ru] ftldh Å¡pkbZ vkSj O;kl Øe'k% 2.1 m vkSj 4 m gSa] gS % 1 

 (A) 24.4 3m  (B) 26.4 3m  

 (C) 27.4 3m  (D) None of these 
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 The volume of a circular cylinder, whose height and diameter are 2.1 m and 4 m 

respectively, is : 

 (A) 24.4 3m  (B) 26.4 3m  

 (C) 27.4 3m  (D) None of these 

17. çFke ik¡p fo"ke çkÑfrd la[;kvksa dk ek/; Kkr dhft,A 1 

 Find the mean of first five odd natural numbers. 

18. ?kVuk E dh çkf;drk + ?kVuk 'E ugha*  d h çkf;drk crkb,A 1 

 Find the probability of an Event E + Probability of the event 'not E'. 

vfHkdFkuvfHkdFkuvfHkdFkuvfHkdFku-dkj. k dkj. k dkj. k dkj. k vk/kkfjr  vk/kkfjr  vk/kkfjr  vk/kkfjr  ç'u %ç'u %ç'u %ç'u %     
fu Eu fyf[kr ç'u ksa ¼¼¼¼19    ,oa ,oa ,oa ,oa 20½½½½ esa dFku    vfHkdF ku vfHkdF ku vfHkdF ku vfHkdF ku (A) ds :i e sa rFkk dFku     dkj.k  dkj.k  dkj.k  dkj.k  (R) ds : i esa fn;k x;k 
gSA fuEu fy f[kr fodYiksa esa ls     lgh lgh lgh lgh fodYi dk p;u dhft, %  

Assertion-Reason based questions : 

In the following questions No. (19 & 20), a statement of Assertion (A) is followed by a 

statement of Reason (R). Choose the correct answer out of the following choices : 

19. vfHkdF kuvfHkdF kuvfHkdF kuvfHkdF ku (A) : 2x + 3y + 4 = 0 ………. (i) 

             4x + 6y + 5 = 0 ………. (ii) 

 dkj.kdkj.kdkj.kdkj.k (R) : lehdj.kksa dk dksbZ gy ugha gSA 1 

 (A) vfHkdFku (A) vkSj dkj.k (R) nksu ksa lgh gSa rFkk d kj.k (R) , vfHkdF ku (A) dh lgh O;k[;k gSA 

 (B) vfHkdFku (A) vkSj dkj.k (R) nksu ksa lgh gSa rFkk dkj.k (R) , vfHkdFku (A) dh lgh O;k[;k ugha gSA 

 (C) vfHkdFku (A) lgh gS] fd Urq dkj.k (R) xy r gSA 

 (D) vfHkdFku (A) xyr gS] fdUrq dkj.k (R) lgh gSA 
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 Assertion (A) : 2x + 3y + 4 = 0 ………. (i) 

                 4x + 6y + 5 = 0 ………. (ii) 

 Reason (R) : Equations have no solution. 

 (A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct 

explanation of Assertion (A). 

 (B) Both Assertion (A) and Reason (R) are true and Reason (R) is not the correct 

explanation of Assertion (A). 

 (C) Assertion (A) is true, but Reason (R) is false. 

 (D) Assertion (A) is false, but Reason (R) is true. 

20. vfHkdF kuvfHkdF kuvfHkdF kuvfHkdF ku (A) : 7, 9, 11, 13, p, 21 dk e k/; 13 gSA 

 dkj.kdkj.kdkj.kdkj.k (R) : p = 17. 1  

 (A) vfHkdFku (A) vkSj dkj.k (R) nksu ksa lgh gSa rFkk d kj.k (R) , vfHkdF ku (A) dh lgh O;k[;k gSA 

 (B) vfHkdFku (A) vkSj dkj.k (R) nksu ksa lgh gSa rFkk d kj.k (R) , vfHkdF ku (A) dh lgh O;k[;k ugha gSA 

 (C) vfHkdFku (A) lgh gS] fd Urq dkj.k (R) xy r gSA 

 (D) vfHkdFku (A) xyr gS] fdUrq dkj.k (R) lgh gSA 
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 Assertion (A) : The mean of 7, 9, 11, 13, p, 21 is 13. 

 Reason (R) : p = 17. 

 (A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct 

explanation of Assertion (A). 

 (B) Both Assertion (A) and Reason (R) are true and Reason (R) is not the correct 

explanation of Assertion (A). 

 (C) Assertion (A) is true, but Reason (R) is false. 

 (D) Assertion (A) is false, but Reason (R) is true. 

    [k.M[k.M[k.M[k.M     – cccc     
SECTION – B 

21. f}?kkr cgqin 1072
++ xx  ds 'kwU;d  Kkr dhft,A 2 

 Find the zeroes of quadratic polynomial 1072
++ xx . 

22. jSf[kd lehdj.kksa ds ;qXe x + y = 5 vkSj 2x − 3y = 4 dks gy dhft,A 2 

 Solve the pair of linear equations x + y = 5 and 2x – 3y = 4. 

vFkokvFkokvFkokvFkok     

OR 

 ;fn ge va'k esa 1 tksM + nsa rFkk gj e sa ls 1 ?kVk nsa] rks fHkU u 1 esa cny tkrh gSA ;fn gj e sa 1 t ksM+ nsa] 

rks ;g 
2

1
 gks tkrh gSA og fH kUu D;k gS \ 

 If we add 1 to the numerator and subtract 1 from the denominator, a fraction 

reduces to 1. It becomes 
2

1
 if we only add 1 to denominator. What is fraction ?  
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23. f}?kkr lehdj.k 0352 2
=+− xx  d s e wy Kkr dhft,A 2 

 Find the roots of quadratic equation 0352 2
=+− xx . 

vFkokvFkokvFkokvFkok     

OR 

 ,d vk;rkdkj Hkw[k.M dk {ks= Qy 528 2m  gSA {ks= dh y EckbZ ¼ehVjksa esa½ pkSM +kbZ ds nqxqus ls ,d 
vf/kd  gSA ge sa Hkw[k.M dh yE ckbZ vkSj pkSM +kbZ Kkr djuh gSA 

 The area of a rectangular plot is 528 2m . The length of the plot (in metres) is 

one more than twice its breadth. We need to find the length and breadth of the 

plot. 

24. f}?kkr lehdj.k 0532 2
=+− xx  d k fofoDrdj Kkr dhft,A 2 

 Find the discriminant of the quadratic equation 0532 2
=+− xx . 

25. ml fcUnq ds funsZ'kkad K kr dhft,] t ks fcU nqvksa (−1, 7) vkSj (4, −3) d ks fey kus okys js[kk[k.M dks         
2 : 3 ds vuqikr e sa foHkkftr djrk gSA 2 

 Find the coordinates of the point which divides the join of (−1, 7) and (4, −3) in 

the ratio 2 : 3. 

[k.M[k.M[k.M[k.M     – llll     

SECTION – C 

26. 12, 15 vkSj 21 la[;kvksa dk LCM K kr dhft,A 3 

 Find the LCM of the numbers 12, 15 and 21. 
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27. ,d f}?kkr cgqin K kr d hft ,] ftlds 'kwU;dksa ds ;ksx vkSj xq.kuQy  Ø e'k% 
4

1
 vkSj −1 gSA 3 

 Find a quadratic polynomial with the given numbers as the sum and product of 

its zeroes 
4

1
 and −1 respectively. 

28. nks la[;kvksa dk vU rj 26 gS vkSj ,d la[;k nwljh la[;k dh rhu xquh gSA mUgsa Kkr dhft,A 3 

 The difference between two numbers is 26 and one number is three times the 

other. Find them. 

29. p ds fd u ekuksa ds fy ,] fuEu lehdj.kksa ds ;qX e dk vf} rh; gy gS \ 3 

4x + py + 8 = 0,  

2x + 2y + 2 = 0 

 For which values of p does the pair of equations : 

4x + py + 8 = 0,  

2x + 2y + 2 = 0  

 has unique solution. 

vFkokvFkokvFkokvFkok     

OR 

 gy  d hft , % 

2
2

1

1

5
=

−
+

− yx
 vkSj  1

2

3

1

6
=

−
−

− yx
 

 Solve : 

2
2

1

1

5
=

−
+

− yx
 and  1

2

3

1

6
=

−
−

− yx
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30. fcUnq (−4, 6), fcUnqvksa A(−6, 10) vkSj B(3, −8) dks tksM+us oky s js[kk[k.M dks fdl vuqikr esa foHkkftr 
djrk gS \ 3  

 In what ratio does the point (−4, 6) divided the line segment joining the points 

A(−6, 10) and B(3, −8) ? 

31. vPNh çdkj ls QsaVh xbZ 52 iÙkksa dh ,d xM~M h e sa ls ,d iÙkk fudkyk t krk gSA bldh çkf;drk 
ifjd fyr dhft, fd  ;g iÙkk % (i) ,d bDd k gksxk, (ii) ,d bDdk u gha gksxkA 3 

 One card is drawn from a well shuffled deck of 52 cards. Calculate the 

probability that the card will be (i) be an ace, (ii) not be an ace. 

vFkokvFkokvFkokvFkok     

OR 

 ,d u hys ikls vkSj ,d  Ly sVh ikls dks ,d lkFk Qsadk tkrk gSA lHkh lEHkkfor ifj.kke ksa dks fy f[k,A bld h 
D;k çkf;drk gS fd  nksu ksa ikls dh la[;kvksa dk ;ksx (i) 8 ? (ii) 13 ?    

    Two dice, one blue and one grey are thrown at the same time. Write down all the 

possible outcomes. What is the probability that the sum of the two numbers 

appearing on the top of the dice is (i) 8 ? (ii) 13 ? 

[k.M[k.M[k.M[k.M     – nnnn     
SECTION – D 

32. nks O ;fDr;ksa d h vk; dk vu qikr 9 : 7 gS vkSj muds [kpks± dk vu qikr 4 : 3 gSA ;fn çR;sd  O ;fDr çfr 
eghu s e sa 2,000 # 0 cp k ysrk gS] rks mudh ekfld vk; Kkr dhft,A 5 

 The ratio of incomes of two persons is 9 : 7 and the ratio of their expenditures is 

4 : 3. If each of them manages to save Rs. 2,000 per month. Find their monthly 

incomes. 
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33. eku Kkr dhft, % 5 

sin 60° cos 30° + sin 30° cos 60° 

 Evaluate : 

sin 60° cos 30° + sin 30° cos 60° 

vFkokvFkokvFkokvFkok     

OR 

 fl) dhft, %  

θ+

θ−
=θ−θ

cos1

cos1
)cotec(cos 2  

 Prove that : 

θ+

θ−
=θ−θ

cos1

cos1
)cotec(cos 2  

34. ,d B ksl ,d  v)Zxksys ij [kM +s ,d 'kadq ds vkdkj dk gS ftud h f= T;k,¡ 1 cm gSa rFkk 'kadq d h Å¡pkbZ  
mld h f= T;k ds cjkcj gSA bl Bksl dk vk;ru π ds inksa e sa Kkr dhft,A 5 

 A solid is in the shape of a cone standing on a hemisphere with both their radii 

being equal to 1 cm and the height of the cone is equal to its radius. Find the 

volume of the solid in terms of π. 

vFkokvFkokvFkokvFkok     
OR 

 nks ?kuksa] ftu esa ls çR;sd d k vk;ru 64 3cm  gS] ds layXu Qy dksa dks fe ykdj ,d  Bksl cu k;k t krk 
gSA blls çkIr ?ku kHk dk i`"B h; {ks=Qy  Kkr d hft ,A 

 2 cubes of volume 64 3cm  each are joined end to end. Find the surface area of 

resulting cuboid. 
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35. 52 iÙkksa dh vPNh çdkj ls QsaVh x;h ,d xM ~Mh e sa ls ,d iÙkk fud kyk t krk  gSA çkf;drk K kr dhft, 
fd (i) yky  jax d k ckn'kkg ] (ii) ,d Qsl dkMZ vFkkZr rLohj oky k iÙkkA  5 

 One card is drawn from a well shuffled deck of 52 cards. Find the probability of 

getting (i) A king of red colour, (ii) a face card. 

[k.M[k.M[k.M[k.M     – ;;;;     

SECTION – E 

36. 'kdhy k viu h iq=h dh xqY yd esa ` 100 rc Mkyrh gS tc o g ,d o"kZ d h gks tkrh gS rFkk çR;sd o"kZ 
blesa ` 50 d h o`f) d jrh tkrh gSA mld s 21osa tUefnu e sa ,df=r / ku jkf'k Kkr dhft,A 4 

 Shakila puts ` 100 into her daughter's money box when she was one year old 

and increased the amount by ` 50 every year. What is amounts of money 
collected on her 21st birthday ? 

37. vkÑfr vkSj lqÑfr d ks ywMks d k [ksy 'kq: djuk gSA mUgsa nks flDd s feys vkSj ;g tku us ds fy, fd [ksy 
dkSu 'kq: d jsxk]  mUgsa ,d lkFk mN kyu s d k QSly k fd;kA 

 fu Eu ç'u ksa ds mÙkj nsa %   4 

 (i) fdru s lEHkkfor ifj.kke gSa \ 
 (ii) ;fn lQyrk dh laHkkouk 73% gS]  rks foQyrk dh laHkkouk D;k gS \ 
 (iii) vkÑfr dgrh gS fd vxj eq>s de ls de ,d fp r (H) fey rk gS] rks e Sa t hr tkÅ¡xh vkSj [ksy 

'kq:  d j nwaxhA bld h D;k laHkkouk gS fd vkÑfr [ksy 'kq: djsxh \ 
 Aakriti and Sukriti have to start the game of ludo. They found two coins and 

they toss simultaneously to know who will start the game.  

 Answer following : 

 (i) How many possible outcomes are there ? 

 (ii) If the probability of success is 73%, then what will be the probability of 

failure ? 

 (iii) Aakriti says if 1 get at least one head, 1 will win and start the game. What 

is the probability that Aakriti will start the game ? 
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38. ,d bathfu;fjax ds fo|kFkhZ dks ,d iryh ,Y;we hfu;e 'khV dk ç;ksx d jrs gq,  ,d ekWMy cukus dks dgk 
x;k tks csyu ds vkd kj dk gks ftld s nksu ksa fljksa ij nks 'kad q tqM +s gksaA bl e kWMy d k O;kl 3 cm gS vkSj 
bldh yEckbZ 12 cm gSA  ;fn çR;sd  'kadq dh Å¡pkbZ 2 cm gks] rks mlds } kjk cu k, x, ekWM y esa 
varfoZ"V gok dk vk;ru Kkr dhft,A 4 

 ¼;g eku yhft, fd e kWM y dh vkarfjd vkSj ckgjh foe k,¡ y xHkx cjkcj gSa½ 

 An engineering student is asked to make a model shaped like a cylinder with 

two cones attached at its two ends by using a thin aluminium sheet. The 

diameter of the model is 3 cm and its length is 12 cm. If each cone has a height 

of 2 cm, find the volume of air contained in the model that he makes. 

 (Assume that outer and inner dimensions of the model is nearly same) 
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